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WEST BENGAL STATE UNIVERSITY
B.A. General Part-II Examination, 2021

PHILOSOPHY
PAPER: PHIG-III
Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z TN Q"Y/VW fac T
Candidates should answer in their own words AJIEAIF! e ©IRNF I ST XA N
and adhere to the word limit as practicable. s R

All symbols are of usual significance.

GROUP-A / [Retl-3
Answer Question No. 1 and 2 and any one from the rest within 300 words
SR E R T G2 SAMHB (F-(FITA 15 AT T€R oo *TId T WS
1. Answer any two questions from the following within two sentences each: 2x2 =4
T @-ieat 7f6 @ets Teq wie &feft 76 e s
(a) What is Vyapara?
A PICF T 2
(b) What is Pararthanumana?
A T I AT 9
(c) What is the first avayava of Paficavayavi Nyaya?
SR TR 2 T &5 2
(d) What is Anumiti?

oS I e 2

(e) Give an example of Kevalanvayi Anumiti.
@I efaifon @pis Suizge e |

(f) Give suitable example of Purvavat Anumana.
53R SR TS MBS WIS |

(g) What is Paksa?
A FICE A 2

(h) Identify the hetu and sadhya of the following inference:
“Sound is eternal because it is a quality.”
i semic @g ¢ i fofes i
‘o Ty ARY *w G (G @d 1

(i) Mention the form of Paramarsa jfiana of the following:

“Fire is cold for it is a substance.”

fFafefis semEie sRNe iR Sae i
“‘qfes Moet pigel Gft 7517
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(j) What is ‘Syat’ in Jaina philosophy?

e WG IS eI {9 IRITE 9

Write short note on any one of the following within 100 words: 6x1 =06

e @-ita w5 Rawa Ton = Bt @10l Yoo *Itw wars

(a) Definition of Vyapti and its classification.

ifess weest g @NRSte

(b) “Pot is non-eternal because it is produced” — State the Pak§adharmata jiiana,

Vyaptijiana and Paramarsa jiiana of this inference.

“Tofb SIferey, ARY ©f Teoin T — @2 SEfaifer srrsioreid, Aifesls @k “areEe
e |

(¢) Classification of hetu.

@A @A |

(d) Jaina Saptabhangi Naya.

TS AYSH o |

What is the relation between Anumiti and Vyaptijiana? How is Vyapti known 3+12 =15
according to Nyaya Philosophy?

wrfie St Aot IYSICTR 799 (S 9 T 0o i fFei &= 417 ¢

Distinguish between Svarthanumiti and Pararthanumiti. In this connection explain 10+5 =15
Paficavayavi Nyaya with the help of suitable example.

e e “RRfen T N F@E @2 e AeRES TE 96 SHge
CRIZACE MR T FCEAT

Define Paramarsa. Explain the necessity of Paramarsajfiana in the context of 5+10=15
anumiti.

RN o7l Wi | Sfafod S AR Wit acarsaet A1t FC |

Critically explain Jaina Syadvada. 15
[CnEEIE SRERIRI el

GROUP-B / fTeia-2

Answer Question No. 7 and 8 and any one from the rest
QTR G b TR @I TAMHE (F-(FIE G5 &ATHA T6d WS

Answer any two questions from the following: 2x2 =4
fasferie - 75 alvss g wies

(a) Symbolise the following:
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(b) Use truth-table to define the logical connective ‘v ’:
HOPIAR =il (ST QG © v *-9F & 7S |

(c) If an argument has four statement variables, how many rows will be there in the
construction of its truth tables?

T @35 e HIRM el ACF, OIFE O TGP 190 FM M AT 9
(d) Give the converse of obverse of the proposition.

Only students are present.

Rafered wRfee w7l mie)

PTG QERI2 ToifEe |
(e) Give an example of “fallacy of undistributed middle”.

SRYI7 (R (MG A0 SWizgel 7S |

(f) Express in Boolean notion and draw Venn diagram.

Nothing is both round and square.
o fetfice 1 I @R (AT 2P FCE |
I ~wigE 40T (IR GR I57FIR 20 #ACa 1|
(g) Name the valid moods of syllogism in first figure.
TICR @A FREICTR (IS @ fora 1w el |
(h) What is the Existential Fallacy?
SBGeTT (T I 9
(i) If P is false, then determine the truth-value of (Pv~P)vr.
Ffe P TRt 23, O (Pv~ P)v r &3 oy feiiae e

8. Write short note on any one: 6x1 =6

@A-IA Gpiog T 7:Hed Bl e

(a) Fourfold scheme of Categorical Proposition
fatorT a50a 5 wifsal

(b) Fallacy of illicit Minor and Major (with example)
Y 7P 8 SR F) (WY (SWIHeTR)

(¢) Rules of Conversion

(d) Mill’s method of Agreement.
[EGEACRRIK TN

9. Test the validity of the following syllogism or syllogistic forms by means of 5x3 =15
Venn diagram: (any three)

CoAbeaa AR s Tiw A ARl @l [ Tl (@-@iE! foTiD)

(a) EAO —1

(b) AAA —2

(c) Some Philosophers are mathematicians, hence some scientists are philosophers,
since all scientists are mathematicians.
Ffoor wifas 20 afdew, Toar Ffo-r aife o wfas, @y woa T@ifs 2
sffdwes |
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(d) No Republicans are Democrats; so some Democrats are wealthy men, since some

10.

11.

12.

2107

wealthy men are not Republicans.

EORAIR 9HToa «; Yok Fg 0T 4«1, FFe 4 LEIe 7|

Test the Validity of the following with the help of truth table: (any three)
TR AR (34! ol vl (@ el foafd)

(a) pogq
qop /..pvyq
(b) po(qvr)
~(pvr)..~p

(¢) pog/o~p>o~q

(d) If weather is good and it does not rain, then either we will go to the
playground or we will go to watch a movie. It is not the case that it rains. So
we will go to the play ground.

T RS BT T @R B A AT, O T W AR M0 A LA Sl
TCTSI (4T TMCAT | FOAR ST (&N TS A

Use truth-table to determine whether the following statement forms are
tautologous, self-contradictory or contingent.

fefeiRe aoaeRels gossres, @ Fosfien, o e - ©f FepaR e Fef
I

(@) (p2g)-(rv~r)
(b) p=~(~pv~q)
(c) polpo(g-~9)]

Explain and examine Mill’s method of Difference.

fRitTa Ife@d! *&fs it ¢ o st

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.

5x3=15
5x3=15
15



